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Yo showld have a calouwlator and drawing instriments for this examination.

This paper consist of EFGHT guestions in TWO sections; A and B,

Answer FIVE guestions choosing TWO questions from section A, T questions from section B and
ONE question from either section in the spaces provided in thiv question papey:

ANl gueestions carry equal marks.

Maximom marks for each part of g question ave as shown,

Candidares shoufd answer the questions in English.
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This paper consists of 16 printed pages.
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B {a}
(b)
{c)
4 (a)
(b

An aeroplane flics along & latitude from & town P{50°S_ 25°F) to 1 town LHE0PS, 30°W)
in 4 hours. Determing:

{i} the distance in nautical miles from Pto €.

(ii)  the speed of the aeroplanc in knots
{5 mirks)

Points A(2 20) and B(10.4) are on a plane. Point C divides line AB i the tatio 1:3.
Determine:

(i) the position vector of C;

{ir}  the coordinates of C. :
F s - (f miaks)
. ' [t Vi B O | I

Given the points A(3.2.-5), B(5,-4,-10) and C(2-3.5): - 37

(i) Wiite in terms of unit vectors AB and AC;

i} Determing the angle between vectors AR and AC.
{9 miarks)

Abatch of 16 articles consists of 10 good ones, 4 with only minor defects and 2 with
major defects. Two articles are drawn at random without replacement, Use i tree
diagram o find the probability that:

{1) ong article is good while the other has a major defect.

(i) one article has & major defect while the other has a minor defect.
(7 marks)

The following are marks obtained by 60 students in a civil engineering examination.

93 59 85 31 & a2 97 63 oy 52
47 61 37 =25 33 i - 7 s T 88
46 63, 472 64 41 50 66 0 80 19
57 5 iR | ™ 356 35 57 34 B4
43 M4 52 34 T 5% - 41 32- - M 67
9 68 9% 80 - 52 Al 9% 64 2B 58

(i) Classify the data starting with 20-29, 30-39, _

(1) Use the classified data to calculate the mean and standard deviation,
{13 mirks)
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